ASSEMBLY INSTRUCTION

Before you begin, please follow Assembly Instruction carefully.
Follow them step by step.

330-000014

Page 1

3

STEP 1

o ik

(A) M6 X 50MM JCBC 2
SCREW -2 PCS

.

(D) M4 ALLEN KEY
(BALLTYPE)-1PC

STEP 2

(B) M4 X 16MM /B \

l s
<
REMARK : ATTACH PART 3 USING (B) SCREW m
AND POZI SCREWDRIVER AS SHOWN.
REQUIRED ASSEMBLY TOOLS :

SCREW - 4 PCS

—

POZI SCREWDRIVER - 1PC

STEP 3 [
e—2105
a— A
5—te

STEP 4

02N

(C) M4 X 16MM C/B
SCREW -2 PCS

bt
C U
&
REMARK : ATTACH PART 4 USING (C) SCREW m
AND POZI SCREWDRIVER AS SHOWN.

/;\\ S

\\’_|C

REQUIRED ASSEMBLY TOOLS : o
POZI SCREWDRIVER - 1PC |

ASSEMBLY INSTRUCTION

Before you begin, please follow Assembly Instruction carefully.
Follow them step by step.

Page 2

FULL SETUP

PART LIST

1) TABLE LEGS X 2 SETS

4) MIRROR X 1 SET

2) PARTAX1PC

e

5) CHROME CAP X 2 PCS

S

3) TABLE WITH DRAWER X 1 PC

<

6) METAL JOIN X 2 PCS

.

HARDWARE LIST

O
))))))))))))))))))}‘

(A) M6 X 50MM JCBC SCREW - 2 PCS

7

(C) M4 X 16 MM C/B SCREW - 2 PCS

e

(B) M4 X 32 MM C/B SCREW - 4 PCS

e,

(D) M4 ALLEN KEY ( BALL TYPE ) X 1 PC




Page 1

ASSEMBLY INSTRUCTION

Before you begin, please follow Assembly Instuction carefully. Follow them step by step.

STEP 1 STEP 2
(A) M6 X 50MM JCBC [0
SCREW - 4 PCS
(B) M4 X 32MM ¢/B
2 SCREW -4 PCS

“ |
3 1

(C) M6 "L" NUT X 4 PCS

cC 2
L A

(D) M4 ALLEN KEY
(BALLTYPE)-1PC

REMARK : ATTACH PART 3 USING (B) SCREW
AND POZI SCREWDRIVER AS SHOWN.
REQUIRED ASSEMBLY TOOLS :

POZI SCREWDRIVER - 1PC

STEP 3

FULL SETUP STOOL

C

Page 2

ASSEMBLY INSTRUCTION

Before you begin, please follow Assembly Instuction carefully. Follow them step by step.

PART LIST

1) TABLE LEGS X 2 SETS

2) PARTAX1PC

3) CHAIR SEAT X 1 PC

HARDWARE LIST

FULLY SETUP DRESSING TABLE

O
))))))))))))))))))}‘

(A) M6 X 50MM JCBC SCREW - 4 PCS

2

(C) M6 "L" NUTS X 4 PCS

e

(B) M4 X 32 MM C/B SCREW - 4 PCS

e,

(D) M4 ALLEN KEY ( BALL TYPE ) X 1 PC




	Sheets and Views
	Model

	330-000014-1.pdf
	Sheets and Views
	Model



